LGP APNH o ERA ) EFHE-—F 10— xgFap (2108 E 127 5 b))

(BRERFREATHBE/NMER - SCRERTREHBE/ N30
EhTEABRAE 108 £EK | 4 % 15 BFpAisat wHAM:108F 11 AL A

128 2 H 2Ei— 12 A 3 H Bi#A— 12 A4 H Bi= 12 5 H Eim 12 6 H EHA
Jeb3E b D3z % JhHE % SO ol Y3z ]
L= EgEsE T |QHE || FEARKEHE RS (1R WHE || EEREA EHOM | LR R T MEG
2. F K fiES RAEEDE 2.5 65  RMEEE 5 [2MILeeE GX:p>
3 AR 3. DA 3. 3RS 35H Nk

48 SES 45 oK 55 =B 48 =B 45
PBEZFK 3
54 | Gl 24 Cas PR |9 * iR 710 28T 51
2 |mE—QyNEUAHTE 15 BG4 2 L)) 1 /NI 12 |[Ys]
1 | AR 1 [ 7S 1 SHIYE 2 AR ] 5 IR
: 1 [eemsEF40 6 WEEET 12 It TRk 1
* A BEEEE-D |12 FOKBET 9 I 44 HhneE 2 3kg/lith
30 |mEE— QLA 16 Rk 4  RE BA 15 RS 1 3kg/iifl
12 fcas psm |35 $Ek 2 |ewswmm GRS 0.5 aitE 28
5 HET 2 WIS oS HIEE 10
AR 1 |600g/&x AL E 3 28 HELT 1 WG 0.5
5 CHIE 40 Ly 5 |F &R 0.5 SHE 12 |5E8iR
| R 0.5 #A 1 KLEEE.R 3
FEE 40 O 1 3kg/ilf | A 0.6 i) 50  |m#E—Q
) 0.5 Hiliy 44 8 e 0.5 *SHULER 50
2 |mE—QlE/I 25  |mE—Q |KLEEE 3 GLERE 3 PuE— Q [k 1 SRR
B 10 |mu#—Q B 0.5
25 |mEE— QR¥ 10 ARl 10 |Fe [EHET 12 fERDEZGIES 0.6
12 *EEY 6 |ILAK  |CAS MEEEE (12 A 1 600ml |H S 16
0.5  Ebp] 2 |ILE |ERE 1 EEtiE 15 |[m#—-Q|EE.T 2
4y 700 %5 1 B 12
700 iR ERINERFRE - 45E T 1 600g |EfufadE 5
ik FAEN—ER - R AIR  |sa AGTED '

wItA WITHE HRR Rk k% [[ERERE
L — T Hamie 01T




EhTEFBRNE 108 SL4EE 1 £ % 16 BB

#3tad 108 £ 11 A 18 B

BOE RN T JITE; PATRE KRR

I

12H 9 A B#— | 12 B10H 2#— 12 A 11 H EBH= 12 A 12 @ S 12 H13 H EHH
E B o3 % K3 P b3 5 b3 5
LMFEEZ HInA LEFEET BT EERE |1 IGEEE R A SE NN BTE3E |1k kbsEi ANEHE
2. KK WE W5 RAFHETRE (5p ] 2.50/NEE TN a5 2 RN R BEES 2. KHMNEA %
3 A HHER B A S 3. 3 b 3R RAE
Bk 43 | [EES 45 SebR A 117 B2k 45 H2K 48
fEzesk 3 RESEK 3
e AR 42
rHEfuEEEE |15 2T 66 EAREE 6 [Bkg/iff [T 54 SHER 20
WETET 21 P2 K 1 ®A 18 PR 10 KLERD 4% 5
aEmER | Ty 1 SR 2 |eoog/tulumEpy |2 kY 6
LT 4 [Bkg/till PEYEH 2 WESEZT 15 [1v1 |5 1 7 1
BieE 10
| ARF 25 GLERE 10 AEN 45
cas FoRHL  [15 cas JEIEE |15 BAH 12 |hacep
QA 5 3 B 20 /NS4 30 Cas ffi%ifF |40 R 9
cas JElEEE  [35 HE.T 1 LLIER) 4% 5 R 0.5
i 1 3kg/iif EIRE/E (80 |mmstw |BAH 25
HE.T 3 % 0.3
R 38 R Ik 42 A 6 PEHLEF 066 0.2
REE L 3 |F FER 0.5 SEHE 15
AR 0.5 frzes 2 NESELIEE (10 S 48 womE [1 ke
ARl 12 |hacep [WiE 0.5 L0 1 600g/1
SHL 25 |BE & 12 R 6 |mmemw |GTEHE 30 AS5R 0.5
Cas BERFAAL |12 1215l 0.5 HEH 1 i 0.5 BHT 12
AR 0.5 e 8 Hi g 15 o 0.5
BT 4% 8 EER 4 5 FY  |[faie 0.6
B 611 i LA 1 STy 700 i+ 700 FEHE 10
JEsEE BT AR
R Bk



EHPTEFBRRAS 108 SEE 1 £ F 17 BFRRMHEWR % A# 108 £ 11 A 18 B
1285 16 HEB#— | 12 A17H Bi#i— 12 A1I8H EBH= | 12 8 19H EHAN 12 20 B E#H
YhEE 5 b3 p ] Y5z 5 D5z b YhHE 5
1408 KEESE (1. BRI T HE R |1 8BRS A 4 5 BUFEE KA |1 4Ti05E SRIEEAE
2.EXKEGT BRES 2520 5 2. sk SRR E i 2R TG o
3 IAEAITR 3. R 3. IV
Bk 48 5K 45 Ar ) 40 | 2B3 48 Bk 45
WK 3 I FEZFK 3
BT 51 28T 54 PSR T 54 51 44 A 42
ZMKT 18 g 9 *EERE ) I\ 20 LU 3
4T 3 AR 1] 5 A 2 | EEay 0.3 Ak 31 12
FRE 1 Tk 1 Hi 1 |s00g/tn fevesmh 2 Bk 1
SR 1 [600g/ DRIEA 6 | sz o
cas Tk [25 (LA 35 |wwEs SR 15 keit-mmmr |10 [wsasts
MESST 12 101 | 9 fify i 10 fas iE |42 RRRLE R0  |mmesws
LT 3 A 0.5 v T 5 wEEEan [12
ST Cas KT |40 | AR 0.5
/Ny 5 |meEs |EEG-mEa 1 | HEAR |
AR |42 AET 2 | Lo 12
Ik 0.5 B 42 S 1 kel [FmpEs 50 [mm—q
“TERH 2 A 0.5 | AR 3 |mm—o |Gt 35
A% 6 |FmEET | 0.5 HILE 20
KHEE 27 | D 0.5
BB 15 UmEx 15 s 27 |mw—-o |4rsEE 3 |mw—q
&8k 10 bas s [12
(6555 3 | S 0.5 moEs e |@ET
[k e 1 |600g/8l | cas iR [10
HIE 700 A 0.5 l!.m}j 700 II HET 1
|
A Wit RFM PATRE R ok g G G
[rassr 37 58] PRI A “ R




Ed W EHFEARNE 108 25K

1 £ % 18 @FRAHRI

a4 108 £ 12 A 1

B

128 23 H Efi—| 12 B2 0 E£#i— 12 B 25 H B#i= 2 B20H B[ 12 85 27 0 EWA
3 B | 5 3 ) b3 B tdaaz 5
LIgFEET EEE (1. ERIED EETHES 1.3 b FKHES | 1IDFEET /NEZE AR =P
2.4 JRAR RS 2T 2475 K 2.7 AR EICE R BREE B
3.5 RS 3DFEHYE 3. 3 B HIREUAREG
B3k 48 Bk 45 St 102 B2k 45 | 253 48

BRSO 3 ' R 3
cas @A 18
2R 54 AL 42 FERER 10 ERET 54 N 24
ARUEENET 2 |3ke/l |ERLA 15 iy 0.5 T 7 | AR 0.5
BH 1 HEAR 2 g 3 ket JaTit 7 | B I
PR 2 TR 1 L 5 Pke/tilE | 1 B 2
BALREH WEE |3 [3ke/il |4LEEE 5 SRR U 1 Pkl [kl 1 3kg/ti ki 15 |mtuss
R 44 AFEREL |1
£ INER 42 A 9 (250g/41) RLERT |42 CAS i (55
A 12 I 1 “iA 12 Cas Ffk 6
e 0.5 IS 1 3ke/ilf | ZRET 42 T 0.5 Cas FOKHL |8
BT 2 P 0.5 Fik 30 |haccp [P 5
JHXEH 2 DA RSk 40
AR |42 3 40 W 45 PHiEER 0.6 |k
GBS 3 TR 0.5 Cas Fokkr |15 R 0.5 | 2
e 0.5 (LEE 3 FOREF 4 |3kg/ii#
PN - 1 3kg/lif  |Cas it 7 NEE? 12
HEEE 27 HERER 5 cas JEHEEE (8 | =R 30
BEE 12 AigEzEst |5 80g/tl |85 5 BEE 6 Cas BERfAA9  |Fkifui
Bh 1 7% 18 0] 9 L3 5 (I [EET 1 | [ 0.5
H#H 0.5
i 699 28T 12 ESb] 700 I T 699
| SRR
Bk B PATHRE C ARE i

FRATIY




